6 | > | 4 $ 3 | 2 | 1

| 24050 mm [9,469in] | PARTS LIST
R - : - Notes: ITEM QTY PART NUMBER DESCRIPTION
REar 230.00 mm [9,055 in] 1) Case is fabricated from 1.5 mm 1 1 M56U1002 Base Panel
aluminium sheet with die cast & ) 1 M56U2005 Rear Panel
= = extrusnor_1 bezels. _ _ 3 1 M5605005 Bezel
© N 2) Case is powder coat painted fine 2 4 M3 x 8 Pan S Rear Panel S
3 in texture with RAL 7040 bezels and X O MM 7an >Crew  |Rear "ane! Serews
L o, RAL 7035 panels. 5 4 M3 x 8 mm CSK Screw  |Base Panel Screws
E E 6 4 M4 x 16 mm CSK Screw |Bezel Fixing Screws
o Ln 7 1 M56U1055H Top Cover
N o 8 2 |AS054231 Side Arm Kit
~ hX 9 1 |M5600025 Handle Bar
M4 earth stud 253.20 mm [9,969 in]
E ) Foot hole detail:
Base = X _:“ [l: 195.00 mm [7,677 in] 2 holes @ 3,30 mm
= ol = . = [0.13in] & 1 hole @
= % 154.00 mm [6,063 in] ——@ 154.00 mm [6,063 in] é 3,80 mm [0.15 in]
0, )
el o | = 10.00 mm [0,394 |
_‘_g - S K X (\ | & E .00 mm [0,394 in]
° ° |
E‘ ; J LN o0 PCB mtg Holes ° \ ° PCB mtg H('I)|ES 8
| ! S € ¢ =
, Suggesﬂed max S R
. [00] (@) 8‘
£ PCB droflle o = B £
= Earth point | = = =
S { B | 3| 8 o——8
(-] OlLo |
[ 1 |
_ 0 | e
180.40 mm [7,102 in] 4@ | v
289.00 mm [11,378 in] 259.99 mm [10,236 in] Side
Front 219.50 mm [8,641 in] Panel Width 2 @ | 242.16 mm [9,534 in] 4@
-% ~ Inside face of front panel to
A T — inside face of rear —_
= [ £ =g |
S | 5 = 0
N o = o
N — S| O ~
0 £ 098 )
= [ N El® 5 o £
£ — E|lEo S
1, ol|g”° o
Q1 a|S N
P £ < o
o S Y =il
A 2
S M4 earth stud A-A FIRST ANGLE PROJECTION
208.00 mm [8,189 in] — Designed by Description Date Scale
L Clark Unimet 5H 11/12/2012 1:4
251.62 mm [3,906 in] METCASE ENCLOSURES METIE€EHT vww.metcase.com
15 Brunel Way, Segensworth East, Fareham, 2811
— : — : : : - - . — Hampshire, UK. PO15 5TX Issue Sheet
b etained i confidsnce, not be reproduced or copied and not b6 used or ncorporated i any produc, unless pormission s obtained in wriing rom OKW Endoscres Lt | Tel: 4 (0)1489 583658 Email: metcase@olwcouk | M5625325 2 1/1

6 [ 5 | 4 ZI& 3 | | 1



